gtaoglas

PCN — Process Change Notification

Change: OMB.915.B06F21
Date: 2017/07/07
Author Bonnie Chen

Affected Products

Model# Part Number Changes
915MHz 6dBi Omni OMB.915.B06F21 1. Amend Antenna Length.
Antenna, with N Type 2. Amend Details of drawing.

Female Connector, U-
Bolt, 1095mm Length
@ 70*53mm

Type of Change

[ ] Hardware Modification

[ ] Production Process Advance

[X] Others —Amend Antenna Length and Details of drawing.

Description of Change

Amend Antenna Length from 1093.5mm to 1095mm.
Remove Washer and Nut dimensions.

Amend BOM.

Amend Title of drawing.

Add Dimensions.

akrwdE

Schedule
2017, July, Taoglas will provide new drawing into production.

Forecast Estimated Transition Date
July/2017




Illustration of Change

Old Drawing

ABS Cover

gR6225

+__

\

fed

/(D

gtaoglas

2.5

i e
i!_6li3_|

Bracket

/8%3

A
w
o

| M6%1.0

T
|

D1%3

o
oM
+H
A
o i i~ Washer Nut
o +25
D | 924 .
= ‘ |
| : HE X,
H n|w | MEx1P
IR R
| H|H 1
™lau |
i m|N
1
ol | [|e | e !
pl 2 llo L=|=' [T]
i &y
(3/ | S o
| o o
o q
| | DETAIL «°a” n DETAIL *B’
D5%25 = scALb 14 SCALE 11
70+2.5 N Type (F)
n )
o ¥ a w:
A LT ] n
— i
3 ‘” Z |mi ?/ &
! e
N ] Material Finish _|QTY i | LE it
PIN i inis .
iame .na 'l [} 2 i ¢8l4.ﬂ:0,3
1 |OMB915Antenna | 0012128020021A | Glass Fiber White 1 H i
- < i $13.7%03
2 | Cover 000111KO00021A | ABS Silver 1 < |
3 | Holder 000312B000021A | Aluminum Siiver 1 - 5/8"-P4UNFF-PA
4 |NTypeF) 201211K000021A | Brass NiPlated | 1 r
5 |M6UTypeScrew | 000412B0D0021A | Stainless Steel | Silver 2
6 | M6 Washer 000411K010021A | Stainless Stesl | Siiver 4 DETAIL :C*_
! SCALE: 1/1
7 | M6 Nut 000411K020021A | Stainless Steel | Silver 4 ==




gtaoglas

New Drawing
Top View Side View U-Bolt A

807535 —_— .___@__.ﬁ__

1o

D)
&

A 27535

9 =
b | ' N Type(F
@ ! $24+35 | y‘p/(“)\ el
2 Y H | H
| | / B2
| 4 LA -
| | =
! . . i
e | ||® I : :
| ok \_ W/
ol | [l L N 7
‘E’ ] '\ A" Detail A
Al s Scale:4:1
A\ | 54838 ||[m3ho
A\ 70t35 g€ Q\\o)
@&II
| 61 A\
' 1051 A\
3541 A\
Name P/N Material Finish [QTY
1 |OMB.915 Antenna |001212B020021A CGloss Fiber White 1
2 | Cover 000111K000021A ABS Sliver 1
3 | Bracket 000311K000021A | Aluminum Siver | 1 |A\
4 |N Type(F) 201211K000021A Brass Ni Plated | 1
5 | M6 U Bolt 000412B000021A | Stainless Steel | Sliver | 2
6 | M6 Washer 000411K010021A | Stainless Steel Silver | 4
7 | M6& Nut 000411K020021A | Stainless Steel Sliver | 4
UNLESS OTHERWISE [ DATE: 2012/08/30| MAT'L: g taog las REV
TOLERANCES ON: I UNIT:  mm | FINISH: antenna solutmnsmm;..me
XX.+ 0.5 x‘§i g‘? “,"m ANGLE E;ﬂm ;mlzmmmmémmmm B
X+ 0.3 XXX+ 0.05| PRO @ =1 [SCALE: 1/4

TITLE. :915MHz 6dBi Omni Antenna, with N Type Female
APPROVED BY: | CHECKED BY: DRAWN BY: | CUSTOMERS SIGNATURE / DATE A\ Connector, U—Bolt, 1095mm Length y7p0*53mm

Joanna | Wayne | Gabriel PART NO. : OMB.915.B06F21




